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1. Choose the correct answer (any five) : 1x5=5
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(@) Sunken stomata are found in
6% IGTF IS IR I
(i) hydrophytes / weTs 8%
(ii) xerophytes / 7¥% &R
(i) mesophytes / TGN
(iv) parasites / &
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(b) In dicot stem : '
o » Xylem is (d) Wound healing in plants is initiated by
" WREH X B G Tl 3T A T =2
(i) polyarch / “fers | (i) apical meristem
" IR OEF Il
(i) endarch / FafyR (i) lateral meristem
(i) - ' sl oEe T4
R (iii) secondary meristem
(iv) mesarch / 348 | N Srer =
_ (iv) intercalary meristem
, fafre s =l
(0 fl . .
, gamous Z:Vihmerea;: o ;n:l:ﬁabl‘y ‘auto- . (e) '{hc; polar nuclei and male gamete fuse
pollen landing on the stj g‘::e of cross o form
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1 T$P6T *raITSt TeT wrw | (i) secondary nucleus / Ot IRCTY
(i) Cleistogamous _ (i) zygote / A P
TR (iii) triple fusion / fomerm
(il) Chasmogamcus (lv) FEN
oAl In the angiosperms, the endosperm is
B ~ J formed
(i) Anemophily 22T TS SR B |
IR o (i) before fertilization / EsR =S
(iv) Autogamous | (i) after fertilization / e Pies
-~ ' (iij) along with fertilization / fNT¥E=R For®
A : (i) None of the above / 673 b8 2¥
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(9) The proce ) Th f th be d ined
- ss of formati (i) e age of the tree can be etermine
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Known ag. | 24108 in flowering Pl::lic}: o
—— _ g R o 1Ry I fdiR IR AI?
ﬂm%g: 9B Rery AR wR Rrgas , (i) measuring its diameter
B b T B, W ot T T SR
i f
udding (i) counting the number of annual
e ' ' - rings
(ii) apomixis Tt A i IR
<Rt | (iii) counting the number of leaves
i) pol E sieq e oot IR
e ; .
a;quwony 1_ (iv) counting its growth mark
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V) somatic hybridizag; |
on ! () Vascular bundles in dicot stems are
ARG :
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(h) Caspar ' et \ (i) closed, conjoint, endarch
IR PS are found ip ‘ &, ITE, 9oF
R3S oy (i) open, conjoint, endarch
o A
€Pidermis , sy @, TG, 98
(ii) endodermjg /v | (iii) closed, conjoint, exarch
(i) h T @, G, 9T
yp °d.er1m's /
) hitico (iv) open, conjoint, exarch
(iv) pericycle / Ry | T, 19T, 999
b »
24KB/20 .
24KB/20 ( Turn Over )

( Continued )




(6 )

2. Answer any ﬁve of the following questions :
) 2x5=10

wor SR R @I nbR Ted frat

(a) Differentiate between wood fibre and
bast fibre. .
Iy °8 A AL TET WS ~ify Bt |

(b) Write the names of the parts of phloem
tissue.
FRNFAR SRR W vy

{c) Differentiate between dicot stem and
" monocot stem.

@l F10 SIF IS TSI TTS AL
foran

(d) Write brief note on seeds dispersal.

A1 ReRa 74wl R

() Why are insects so important for
agriculture?
CIF-TRPTAR 1 IR-Tifs s

() What are the practical applications of
apomixis?
@ fifties e awmsemz R0

(g) Mention four main adaptive characters
of xerophytic plants,
smm:%ﬁmasﬁﬁtamavﬁanmmiﬁm|
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3. Answer any five of the following questions :
Sx5=25
O PRI R I <liob ew et -

(@ What is an . embryo? State the

development of a dicotyledonous
embryo.
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{b) “Nature always favours Ccross-
pollinations.” Discuss.

AP TR-YIEI @RI RorE
SCEASA ¥4 | :

(c) State the advantages and disadvantages
of self-pollination.
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(d) Write a short note on polyembryony.
TSR €4S «f5 57 GRA fBrat |

(e) Describe the structure and function of
stomata.
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() Describe the internal structure of a
dorsiventral leaf with diagram.
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‘et s . | c) What is meristematic tissue? Classify

@ Dlsm:,glélSh between heartwood and : @ meristematic tissue on the basis of
sapwood. ' position. What are its distinguishing
R 5 AE PRY IR Ny | characters? 2+3+5=10

(h) Distinguish between interfascicular o A 57 TR SPR ST FAR
cambium and cork cambjum, iR 1 | 201 B 3R Rz Re?
RS IEL IS U L R S —

W NP ety (d What- are hydrophytes?  Classify
. hydrophytes giving exam;l;les. Mentht}

() Mention differences betwee . four main adaptive characters o
matic tissue and permanent ?is;?x:flsw hydrophytes. 2+4+4=10
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Answer any two of the following questions : |

: 10x2=20 | * kK
Wmﬁm‘iﬁﬂ%mﬁm . j

(a) lgi?;l:g: ty\;lth labelleq Sketches the
es of i
for each of them.ovules' Give examples

(b) What is fertilizg
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